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hat is the VALUE of these seedlings
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Tield model for Finus faeda on two selected sites wath vanable

nitial seedling size and vegetation management intensity
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What Is the growth advantage of
planting 8.5 mm seedlings instead
of 4 mm seedlings?
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What Is the growth advantage of
planting 8.5 mm seedlings instead
of 4 mm seedlings?




Which option produces more
wood at age 12 yr?
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Which option produces more
wood at age 12 yr?
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Is this treatment economical?
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Shear-rake-pile bed
DAP at planting
Velpar and Oust at planting

1271/93
INTENSIVE

REE RCD

Shear-rake-pile bed

DAP at planting

Velpar and Oust at planting
2 Insecticide - yr 1

Arsenal + Escort -yr 1
Arsenal + Escort - yr 2

2 insecticide - yr 2

KCl + DAP -yr 3
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THE OPTIMUM LOBLOLLY
PINE SEEDLING
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An individual tree growth and yield model for loblolly pine in relation to root collar diameter at
tune-of-planting




http://filebox.vt.edu/~cvanders/RCDIob062006.exe

. Seedling size distribution - Standard seedlings
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http://filebox.vt.edu/~cvanders/RCDIob062006.exe

w. Seedling size distribution - Morphologically-improved ... E@@
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http://filebox.vt.edu/~cvanders/RCDIob062006.exe
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What Is the growth advantage of
planting 8.5 mm seedlings instead
of 4 mm seedlings?
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Which option produces more
wood at age 12 and 25 yr?
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Which option produces more
wood at age 12 and 25 yr?
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Which option produces a greater
Present Value at age 25 yr?
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Which option produces a greater
Net Present Value at age 25 yr?
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What Is the economic advantage of
planting 8.5 mm seedlings instead
of 4 mm seedlings?
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Which option produces more
wood at age 12 and 25 yr?
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